PI21F Summocy Chvory e 9L -3y (odd )
(' b 13) olays  29) | % Ny
-= g \5) ot sclifion -
! 7' y) 3')&73—:\—: o
N\ ) &4 ! )
L‘? 1) ‘W)L‘i‘b)&{}),crl,-’()\'
V3D W) b8
N X0-8),4:5),636)

X- %A K73 p)((h
l)x;m‘ }) % W), )bn)z()n)

3)(%&‘\‘.\,‘ ¥ T Q’ b2 U
'\)‘(\k (4 \l: l -
M ‘m(\p.\w\ U8 Tene o

B-D:c\)‘tm.\.\i Q- ‘W.)lcu\yQ S D(




y (71 Grolpl'\m_g Nov. 10, 2006
L ineg USlV\Q—H\Q T rtercefls.

—

X-inte rc,cPt ’\‘L\e X - Coo‘fdmcﬁe
ol o pomt wlhere a 3“C{N\
C(OSS?S ""'\/\Q X - QY[S LQ.P’cs ImQ
L\) f\tfrcqﬂt The Vs (oordinate

od o Pornt wWhere o atuph
CroSSes The v-ayxit S

o Thex - ]Y\'(', IS ‘f“'\f
2/6\ a\ueoﬁ x w hen
Herc \'& ‘& g

}\e _int. 15 The Vs \ve o@ I
wMV\X O. Here (4 |5 o'l




Lined the x Y intercepts ot
'H\e gro\P ‘ﬂ 90( 1-3>, =~ b > S‘f&m/md

Form

lY-if\t, (\/:O) v-int (4=0) [

Ax+3(N = | A0)+3y = 6
CD\X+ 026 ;Z:,é-
Ax=6 = 3

2

N x| P




Ruick Graph Ax +Qy =1k
Lindk the xdy nfeveepts
Plot +hose Pojnt s \y?;ip
D Connect the Dats,  coosh
] £int (yeg) (v-int(x=0) B
B4 D)=/ \ B()+2y =12
3x =12 2y 7

2 = =

5—’-& ;/:é




C\r\oose the SCOL[Q-' ﬁ-Fun_é::;;x\\

QU LC k\ Grq,ﬁl’\_ 'FOr‘ )::ﬂx-[_g()

x-inT (y=0) ( y-int (x=0)

0) = ¥x+%0
o y =40}y
= ¥x .
¢ Y Y =10
X="/0
Uy {0
24
Lot
R/~
2hL
(p L
Z L\ \ , . \><
T o e D 90 B ¥ SO =




O-T.L.
D P A A5
-35 (odd)
S673F (all)



	Page 1: Nov 09 - 7:17 AM
	Page 2: Nov 09 - 7:17 AM
	Page 3: Nov 09 - 7:17 AM
	Page 4: Nov 09 - 7:17 AM
	Page 5: Nov 09 - 7:17 AM
	Page 6: Nov 09 - 7:17 AM

